
pT bin [ GeV ] σ/σSM scaling
97 < pT < 133 1 + 0.001 cG − 0.002 c(3,1)

qq

133 < pT < 174 1 + 0.002 cG − 0.001 c(1,8)
qq − 0.003 c(3,1)

qq

174 < pT < 220 1 + 0.004 cG − 0.001 c(8)qd − 0.002 c(1,1)
qq − 0.003 c(1,8)

qq − 0.008 c(3,1)
qq −

0.002 c(8)qu + 0.001 c(1)ud − 0.001 c(1)uu

220 < pT < 272 1 − 0.001 c(1)dd + 0.007 cG − 0.002 c(8)qd − 0.004 c(1,1)
qq − 0.006 c(1,8)

qq −
0.016 c(3,1)

qq − 0.003 c(8)qu + 0.002 c(1)ud − 0.002 c(8)ud − 0.003 c(1)uu − 0.001 c(8)uu

272 < pT < 330 1− 0.003 c(1)dd − 0.002 c(8)dd + 0.012 cG − 0.004 c(8)qd − 0.009 c(1,1)
qq − 0.011 c(1,8)

qq −
0.029 c(3,1)

qq − 0.001 c(3,8)
qq − 0.005 c(8)qu + 0.003 c(1)ud − 0.003 c(8)ud − 0.006 c(1)uu −

0.003 c(8)uu

330 < pT < 395 1− 0.005 c(1)dd − 0.003 c(8)dd + 0.017 cG − 0.007 c(8)qd − 0.016 c(1,1)
qq − 0.020 c(1,8)

qq −
0.056 c(3,1)

qq − 0.002 c(3,8)
qq − 0.010 c(8)qu + 0.007 c(1)ud − 0.005 c(8)ud − 0.011 c(1)uu −

0.005 c(8)uu

395 < pT < 468 1− 0.007 c(1)dd − 0.004 c(8)dd + 0.024 cG − 0.012 c(8)qd − 0.028 c(1,1)
qq − 0.034 c(1,8)

qq −
0.097 c(3,1)

qq − 0.002 c(3,8)
qq − 0.017 c(8)qu + 0.011 c(1)ud − 0.008 c(8)ud − 0.020 c(1)uu −

0.009 c(8)uu

468 < pT < 548 1− 0.012 c(1)dd − 0.007 c(8)dd + 0.034 cG − 0.019 c(8)qd − 0.050 c(1,1)
qq − 0.057 c(1,8)

qq −
0.168 c(3,1)

qq − 0.002 c(3,8)
qq − 0.001 c(1)qu − 0.027 c(8)qu + 0.019 c(1)ud − 0.014 c(8)ud −

0.036 c(1)uu − 0.015 c(8)uu

548 < pT < 638 1− 0.019 c(1)dd − 0.010 c(8)dd + 0.047 cG − 0.029 c(8)qd − 0.086 c(1,1)
qq − 0.094 c(1,8)

qq −
0.282 c(3,1)

qq − 0.003 c(3,8)
qq − 0.002 c(1)qu − 0.045 c(8)qu + 0.031 c(1)ud − 0.022 c(8)ud −

0.065 c(1)uu − 0.026 c(8)uu

638 < pT < 737 1− 0.029 c(1)dd − 0.014 c(8)dd + 0.062 cG − 0.044 c(8)qd − 0.144 c(1,1)
qq − 0.147 c(1,8)

qq −
0.452 c(3,1)

qq − 0.006 c(3,8)
qq − 0.003 c(1)qu − 0.070 c(8)qu + 0.047 c(1)ud − 0.035 c(8)ud −

0.112 c(1)uu − 0.043 c(8)uu

737 < pT < 846 1− 0.040 c(1)dd − 0.020 c(8)dd + 0.085 cG − 0.062 c(8)qd − 0.232 c(1,1)
qq − 0.231 c(1,8)

qq −
0.721 c(3,1)

qq − 0.009 c(3,8)
qq − 0.004 c(1)qu − 0.107 c(8)qu + 0.074 c(1)ud − 0.053 c(8)ud −

0.182 c(1)uu − 0.069 c(8)uu

846 < pT < 967 1 − 0.059 c(1)dd − 0.029 c(8)dd + 0.110 cG + 0.001 c(1)qd − 0.090 c(8)qd − 0.372 c(1,1)
qq −

0.358 c(1,8)
qq − 1.133 c(3,1)

qq − 0.014 c(3,8)
qq − 0.006 c(1)qu − 0.163 c(8)qu + 0.114 c(1)ud −

0.081 c(8)ud − 0.297 c(1)uu − 0.110 c(8)uu


